
 

 

 
 
 

W3000 
 

 
 
 

825222 
 
 
 
 

Original-Gebrauchsanleitung 

V2/0920 



 

 

 

- 5 - 

Technical data 
 

Name Heater holder W3000 

Code-no.: 825222 

Material: Steel, painted 

Model: 

� Only suitable for horizontal mounting 
� Easy dismantling and assembly 
� Designed: 

- For attachment to a square tube,  
size: 20 x 20 mm to 40 x 40 mm 

- For attachment to a round tube, size: Ø 20 mm to 40 mm 

Dimensions: W  180  x D 85 x H 70 mm 

Weight: 0.55 kg 

 
 
Properties 
 

This holder facilitates the installation and dismantling of the infrared heater W3000 E, 
code-no.: 825214 to the square tube or round tube. This guarantees flexible use as 
required.  
 
 
Equipment included 
 

Unpack the holder and dispose of all packaging material. Check the delivery for 
completness according to the following table. 
 

No. Description Number 

1 M6x12 bolt 4 

2 U profile 1 

3 M6 nuts 4 

4 Anti-slip mat 1 

5 M6x50 bolt 2 

6 M8x25 locking bolt 1 

 Allen key 1 

GB/UK 



 

 

 

- 6 - 

Important tips 
 
� Do not mount the heater holder in the vicinity of flammable, explosive materials.  

� Do not mount the holder directly to a wall 
or ceiling but on a suitable square or 
round tube which is away from the wall or 
ceiling at a distance of at least 10 cm.  

� Make sure the distance of the heaters from 
the people below is at least 50 cm.  

 

� During installation of the heater to the holder pay attention to the path of the 
heater cable.  

� Connect the heater to the power supply only when the installation to the holder is 
completed. 

� Never touch the holder and heater during operation. Hazard of burns exists! 

� Never cover the holder and heater during 
operation. 

 



 

 

 

- 7 - 

Installation 
 
Step 1 

 
Mount the holder U profile (2) onto device 825214 using the supplied bolts M6x12 (1) 
and nuts M6 (3). 
 

 

 

 

Step 2 
 
Next, mount the heater (2) on a suitable square or round tube with the supplied bolts 
M6x50 (5). Tighten the bolts with use of an Allen key. 
 

 

Infrared heater 

Tube 

u
p

 t
o

 4
0

 m
m

 

at least 20 mm 



 

 

 

- 8 - 

Step 3 
 

Tighten the holder on the tube with the locking bolt M8x25 (6) 
 

 
 
 
 
Dismantling 
 

The holder and heater may be easily dismantled if necessary.  

To do so, first undo the locking bolt M8x25 (6) and unscrew the bolt M6x50 (5). 

Remove the holder with the heater.  

To dismantle the heater from the holder, unscrew the bolts M6x12 (1) and 
nuts M6 (3). 

When not used for a longer time, store the heater and holder in a dry and clean 
place, away from frost and sunlight, out of reach of children.  

 
 
 
 
 
 
 
 
 
 
 
 
 
Bartscher GmbH phone: +49 5258 971-0 
Franz-Kleine-Str. 28 fax:      +49 5258 971-120 
33154 Salzkotten  Service-Hotline: +49 5258 971-197 
Germany  www.bartscher.com 

6 


